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Haiigure cymmy. OTBeTHI
D 5, g D1 58
_ = _ = 1.
100 10 10 100
2.
V1 46 Y 39 4
_ = _—= 3.
10 100 100 10
4.
> 7 13 0 8§ 9
S _ = 5
10 100 10 100
6.
N 61 2 » 76 1
- 4+ = - 4 = 7
100 10 100 10
8.
D 49 3 1) 5 33
S T _— = 9
100 10 10 100
10.
4 4 o153
[ T - 4= 11
100 10 100 10
12.
13 4 356 4 921 6
- = _— - 13.
10 100 100 10
14.
15 12 8 16 86 1
- 4+ = R T — 15.
100 10 100 10
16.
M5 2 ™1 36
T 4= _ [ 17.
100 10 10 100
18.
9 4 49 20 38 2
SR —— S 19.
10 100 100 10
20.
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Haiigure cymmy. OTBeTHI
b2 7 m 2 1 58 68 %
+ = T — 1. 100
100 10 100 10 100 100 s
2. /100
3) 4)
1 . 46 _ 56 39 N 4 _ 79 N Tﬁm
10 100 100 100 10 100 o
4. /100
5) 6)
7,13 83 8, 9 89 s T
10 100 100 10 100 100 0
6. /100
7 8)
61 2 8l 76 1 86 oy
100 10 100 100 10 100 o6
8. /100
9) 10)
49 N 3 _ 79 5 N 33 _ 83 N ?4M
100 10 100 10 100 100 o
10. /100
11) 12)
4,4 4 15 3 _ 45 L
100 10 100 100 10 100 45
12. /100
13) 14)
4 N 56 _ 96 21 N 6 _ 81 s %ﬁm
10 100 100 100 10 100 o
14. /100
15) 16)
2,8 9 86 1 _ 96 Ly
100 10 100 100 10 100 o6
16. /100
17) 18
5 225 ) 1,36 _ 46 o
100 10 100 10 100 100 »
18. /100
19 20
)4+49=89 )38+2:58 o
10 100 100 100 10 100 <
20. /100
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